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An enzyme that cut DNA into fragments -
A) DNA Ligase B) Restriction enzyme-
C) DNA Polymerase D) Proteases enzyme
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Example of In-situ conservation of biodiversity is -
A) Wildlife sanctuaries B)  Zoological park
C) Botanical garden D) Wildlife safari park
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Fill in the blanks :

J e .J\a?j,qu (aftren) @t & o .. L 4....... veveim i £ [VetVis]
Male honey bee are _(Ploidy) having chromosomes,
i) WRT  foTg SuEm & e W A SRR Wl @ gant @ ARat 39 J1078Y,
(1) | Frawren s en| [1]
Insulin used for diabetes was extracted from the y (organ) o
slaughtered pigs and animals
i ﬁm%mﬁaﬁwﬂﬁﬁﬁl i

The rate of biomass production is called .
iv) a4 2002 ¥ gfaror anfrem QF”E = ##m o w Rvafirer aem gaml - [1]

The world Summit on Sustainable Development held in 2002 in ,
South Africa. . - |
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Give the answer of the following questmns in a word or a line.
’1)/ T Fuem it gt fil
Define external fertilisation. |
iiy ZIFT = g am ferfa)
Write full name of ZIFT.
iii) mmﬁaﬁmiﬁmﬁml Rovk d JLEE e

~ The phenotype of RRyy genotype seeded plant will be - |

o~ - ——

iv) Wﬂfrﬁﬁl g FAR?
What is Transgenic animal?
v)  udArem i @ w5 fole)

Write function of Adenosine deaminase,
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h_wme name of COmponents of nucleoside.
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Write one adaptation of seals found in polar seas.
i) TR i TH HHO Wi, (1]

Explain one reason of deforestation.
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ot answer type questions (Answer word limit 50 words) :
A TR 7 & diF Wl & W 9 S fafau) [+t Ys=1Y4]

Write name and function of three parts of female reproductive system.

) 'aqet wenfe’ <t TETEO g1 WHEEC [1]

Explain 'Incomplete dominance’ with example,
h T firdm =t weroit wiga Wt (1%]
. Explain Turner's syndrome with symptoms.
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rite the name of the microorganism commonly called brewer's yeast. Write one

)aﬁﬁwwm%ﬁq!mmﬁaﬁﬁﬁag@mmﬁmﬁéﬁ? [1+¥4=1%]

' Write full name of BOD. What is the relation of polluting potential and BOD of
waste water.

) 72 faiea & e @ i fam T [17%]

Draw a labelled diagram of sparged stirred-tank bioreactor.

) @i Haeeh <t fRet U fetean @6t wwEmsl | [1%]
Explain any one feature of cloning vector.
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ong answer type questions (Answer word limit 100 words) :
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Write the name of the pathogen of amoebiasis. Write two symptoms and two

source of infection.
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What are the stenothermal organism? Draw a diagrammatic representatig,

organismic response.
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Essay type questions (Answer word limit 100 words) :
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1)  Define translation.
i) Explain process of translation.
iii) Draw a labelled diagram of translation.
| [1+1%+1%=4]
Fuar/OR
Fuar/OR
)  fig seaftada & o w@rew @ A T Rk
i) ot JHUUA S THEEtl
i) R AT = AifeRa o= T
i)  Name the disease that results from point mutation.
i) Explain the Lac operon.

if) Draw a labelled diagram of the Lac operon.

[1+1%+1%=4]
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